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A scout troop buys 1000 candy bars at a price of ve for $2. They sell all the candy bars at a
price of two for $1. What was their prot, in dollars?

(A) 100  (B)200 (C)300 (D)400  (E) 500

A positive number z has the property that 2% of 2 is 4. What is z?
(A) 2 (B) 4 (C) 10 (D) 20 (E) 40
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An 8-foot by 10-foot oor is tiled with square tiles of size 1 foot by 1 foot. Each tile has a
pattern consisting of four white quarter circles of radius 1/2 foot centered at each corner of

the tile. The remaining portion of the tile is shaded. How many square feet of the oor are
shaded?

(A)80—20r  (B)60—10r (C)80—10r (D) 60+10r  (E) 80+ 107

@ In AABC, we have AC = BC =T and AB = 2. Suppose that D is a point on line AB such
that B lies between A and D and CD = 8. What is BD?
(A)3 (B)2v3 (C)4 (D)5 (E)4V2

What is the area enclosed by the graph of |3z| + |4y| = 127
(A) 6 (B) 12 (C) 16 (D) 24 (E) 25




